O =S HEE 012, 916, 320, 325, @32, @40, @50, @63, 380, @100, @125

@ ofaHE
2715 : RH HILfE
D : A LifiES

Q@ XIxIZ+
FA: 2EX SaX|2%
FB : sI=& ZaHx| izt
CB : 24t SaflH| AR

(OF =18 P |
12 A2 WA 12mm
16 : AZIE LHA 16mm
20 : Al2IH WA 20mm
25 @ AEIH g 25mm
32 AEH g 32mm
40 : AH2IH WZ 40mm
50 : AZIE iZ 50mm
63 : AZIE g 63mm
80 : AZIT LHZ 80mm
100 @ A2IH LhZ 100mm
125 1 a2d L 125mm

® ZHES Cixtel
© YR0/583 FoxZ
© 2R ENY

® 2EES2 I

R Sl S Sl

©® LIAFHER
D: 2 LA
DM : 2 2L}

® ux}:I._—rj,
Y PAEES
1)\} |_-|E-7co

2=

® LEASIX|
AGK : QEAQIR| RA

@ EARR] F7IE

LB REg A ® A2 2F AER3T 2|5 ; 27pEEt
L4 @ @12, @16 S : 174 s'f
-5, 10, 15, 20, 25, 30 N @ N7 2=f
g : 320, 325
-5, 10, 15, 20, 25, 30, 35, 40, 45, 50
L& © @32, 340, @50, @63, @80, 3100, @125
-5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
CEESEE o 7IERY R
= 52 SapEet AL Atk eS| B o
D-A94K X LTS 20| E
D-AGKV (2444) DCSV ~ ACOV ™y 2o ycola I o AmolME A2l
D-A94X SEE 204 DC24V
2M | ED 0fl) YCDQ2A 40-55 DM—A94K
D-A94X-N SHHE MM DC24V NPN RCHEA|S — 75AE2T BEZ0| AH|0JA 20mm Ak
D—A%4X-P S 344 DC24V PNP
¥ QEAX| J2HE : D-AMK : 1M, D-A4K-L3 : 3M, D-A94K-L5 : 5M

152 YPC



¢ XN E A

i S 25 p2c
e e AgSA 7|9 g 74A
,' ‘___5_;—:::. S HIE 0.05MPa(0.5 kgf/cm?)
o %_____-—:—_:’_’_’_ = Z|oArEe 1.0MPa(10 kgf/cm?)
(= R T [EETHE 15MPa(15 kgf/cm?)
. 2 M A=
& R g
' AIE ODAE & 50 ~ 750 mm/s
2 A MEFA 2= 5~ 60°C (41~ 140°F)
g % 2Z2 (29150 VG32#)
ARIc] LjRaE
XA H|LHE XM LA

L L

*
-
0
40
HH
*
El
riok
Blid
HH
El
0N
= -
Im
@

HS [Sk=daz] KR! H|Z Hs = =i T
@ Y=20lE 82 EERIChI= @ @12 M2 YCQ-12-PS
(@) &= 7 ozol5 &3 A LR0l0|E @) 716 Az YCQ-16-PS
® El=p g0 32 ZA 220l ©) @20 A2l YCQ-20-PS
@ =4 ® 025 AlRir YCQ-25-PS
® O-Ring NBR ® @32 M2 YCQ-32—-PS 2oz
=l —lo

® 2 U NER ® 940 Al2if YCQ-40-PS DAL
0 e 22 se=8=3 @ ps0 MY | voaso-ps | = HiE
® DAE UZ0|E B2 I200|E
£l = ! 063 Al2If Y0Q-63-PS
©) IAE Y NBR

©) @80 Azt YCQ-80-PS
© oy RUBBER ~

=1 — —|

® - e ® 3100 Al2ic] YCQ-100-PS

® @125 AR YCQ-125-PS

www.ypc.co.kr 153



o N xR

> 712 (X HILHEE, LI
YCQ 2A-@12, 316, 320, @25-D

HDPC Q_ F 2—P(PT)
! !
T 3| w S D &
7N
i \§
K 4-BN Hol L B+Stroke
— ole
T TOE +
M 860 A+Stroke
E
1 ) .
QT Tap Dimension
> - L— e R G 2Y
S S o2 | M&x07 | 10 4 | 65
S——TTcl 9% | Max07 | 10 | 4 | 65
R R | g20 | Mex10 | 1 7 9
BStroke 025 | M6x10 | 17 7 9
YCQ 2A-@32, 340, 350, @63, @80, 3100, @125-D
HDPC Q = 2-P(PT)
-l N
Y
A VL
JCJ Elﬁ w S (D (j
&J e = =
&t
LA
&
L B+Stroke
4—-@N Hole A+Stroke
J 8-00
Tt Tap Dimension
EEE ] R g ?Y
9% | M6x10 | 17 7 9
. — — = 040 | M6x10 | 17 7 9
= S 50 | M8x125 | 22 8 1
N e % @63 | MIOx15 | 285 | 105 | 14
-G_R‘— R.G_ @80 | MI0x15 | 355 | 135 | 175
2100 | Mi2x1.75 | 355 | 135 | 175
"
Sk @15 | Midx2 | 434 | 184 | 212
4 EER
AU | ARRIEN | g | 5| g | F H cly |k |L|M|N 0 P Q| z
(mm) (mm)
o1 s |208] " |6 |2 |45 M8x05 [ 6 [ - [ 5 [35[165]35] 650P4 | M6x08 [ 75| -
216 2 |185] 8 | 29 | 45| M4x07 | 8 | — | 6 | 35| 20 | 35 | 65DP4 | M5x08 | 8 | -
220 sosp | 2 |1©5] 10 | % |5 | M5x08 [ 7 | - | 8 |45 256|565 90P7 | M6x08 | 8 | -
925 275 | 25| 12 | 40 | 5 | M6x10 | 2 | - | 10 | 5 | 28 | 55| 90P7 | M5x08 | 95| —
93 soro | X 28| [ 46 |74 vexios [ 18 [as [ u [ 7 [3 [65] o0p7 18 99 | 14
) 365|295| 16 | 52 | 8 | M8x125 | 13 | 5 | 14 | 7 | 40 | 55 | 9DP7 /8 15 | 1
@50 385|305| 20 | 64 | 105| MIOx15 | 15 | 7 | 7 | 8 | 50 | 66 | 1DP8 /4 TR
263 oo |43 [20 |77 05| mioxis | % [ 7 [ [ 8 60| o [0pios 14 | 19
@80 535 435| 25 | 98 | 12 | M6x20 | 21 | 6 | 2 | 10 | 77 | 1 |w50P15| 38 6 | 6
2100 65 | 53 | 30 | 17 | 18 | M0x25 | 27 | 65| 27 | 12 | 94 | 1 |w5DP15| 38 R
@125 | 10~100 | 99 | 83 | 35 | 142 | 245 | M2x25 | 30 | 11 | 32 | 16 | 14 | 125 |2120P184|  3/8 | 245 | &2

154 YPC




= = A
> 7128 (XIM HILHEE, ZLIAL
YCQ 2A-@12, @16, 320, @25—-DM
Q_ F 2-P(PT)
| | I
Y < .
3 g O——FF
fan
e H1
C
B | X
M 4—@N Hole L1 B+Stroke
E 8-00 A+Stroke
o1 _ _
QT Tap Dimension
gl - J-+& Ed 1A o1 R G )4
< o012 | M4x07 | 10 4 65
G T | 15 @16 | Max07 | 10 4 65
R R 220 | MBx10 | 17 7 9
B+Stroke @25 M6 x 1.0 17 7 9
YCQ 2A-@32, 340, 350, @63, @80, @100, @125-DM
B Q F 2-P(PT)
e 285K
/“\ W) MM
() N[E v s & D &
\J *A:'/ \_)_
@) |
A ct
4-@N Hole X
J 8-00 u B+Stroke
A+Stroke
Ot 2t Tap Dimension
EB g o1 R G aY
232 | MBx10 | 17 7 9
> >
S - - -r g 240 | MBx10 | 17 7 9
g @50 | M8x125 | 22 8 1
cI—r | —T%| 063 | MIOXx15 | 285 | 105 | 14
R R 280 | MIOx15 | 355 | 135 | 175
B4Stroke @100 | M2x175 | 355 | 135 | 175
@125 | MiAx2 | 434 | 184 | 212
2] o
Bl et PN IS I =R = MM J| K[ M| N 0 P Q| z o | x| u|H]|os
(mm) (mm)
o12 sog |30 7 [ 625 45| M5x08 | - | 5 [155]35[ 650P4 [ M5x08 [75] - [ 9 Ji05] 14 | 4 [ 8
216 340|185| 8 [ 20 [ 45| M6x10 | - | 6 | 20 [ 35| 65DP4 | M5x08 | 8 | - |10 | 12 |555| 5 | 10
220 sog |%80[195] 1036 |5 | M8xt25 | - | 8 [265]55] 90P7 [ M5x08 [ 8 | - |2 | |B5] 5 |13
225 450|225 12 | 40 | 5 | Mmox125 | — | 10 | 28 | 55| 9DP7 | M5x08 | 95| - | 15 |175| 25| 6 | 17
232 sot0o |55 28 [ 1645 [ 74| Maxis [45] 1|34 [65] 90P7 118 90 | 14 |205|285] 85| 8 | 2
240 580 |295| 16 | 52 | 8 | Mi4x15 | 5 | 14 | 40 | 55| 9DP7 118 115 | 14 |205]235|285| 8 | 2
250 64.0|305| 20 | 64 |105| MBx15 | 7 | 177 | 50 | 66 | 11DP8 1/4 1|19 | 26 [285|335] 11 | 27
263 5o |695] 36 |20 |77 [105] MBx15 | 7 | 7 [ 60| 9 [ 4DPI05 1/4 1|19 | 26 |285[335| 1 | 7
280 870|435] 25 | 98 | 12 | M2x15 | 6 | 22| 77 | 11 |w50P135| 3/8 16 | 26 |325|355|435| 13 | &2
3100 96553 |30 | 117 | 18 | M6x15 | 65| 27 | 94 | 11 |1750P135| 3/8 19 | 26 | 325|355 435 16 | 41
@125 | 10~100 | 141 | 83 | 35 | 142 |245| M30x15 | 11 | 32 | 114 | 125 | 212 DP 184 38 |245| 26 | 42 | 45 | 58 | 18 | 46

www.ypc.co.kr 155



o N xR

> 712 (RH LHES, AL
YCDQ 2A-@12, @16, 320, 325-D

HDPC Q. F 2-P(PT)
! !
- 3| w S D &
7N
i \¥
K BN Hol L B+Stroke
— ole
e +
M 800 A+tStroke
E
1 ) .
QT Tap Dimension
> - L— e R G 2Y
S S o2 | M&x07 | 10 4 | 65
S——"TTcl 9% | Max07 | 10 | 4 | 65
R R | g20 | Mex10 | 1 7 9
BStroke 025 | M6x10 | 17 7 9
YCDQ 2A-@32, @40, @50, 363, 380, @100, @125-D
HDPC Q E 2-P(PT)
-l N
4
/ ¢1\_
JCJ _N|§ w S (D (j
&J e = =
&t
LA
&
L B+Stroke
4—@N Hole A+Stroke
J 8-00
2t Tap Dimension
EEE ] R g ?Y
9% | M6x10 | 17 7 9
. — — = 040 | M6x10 | 17 7 9
S S 50 | M8x125 | 22 8 1
N e % @63 | MIOx15 | 285 | 105 | 14
-G_R‘— R.Q. @80 | MI0x15 | 355 | 135 | 175
2100 | Mi2x1.75 | 355 | 135 | 175
"
Sk @15 | Midx2 | 434 | 184 | 212
4 EER
AU | ARRIEN | g | 5| g | F H cly |k |L|M|N 0 P Q| z
(mm) (mm)
g1 g | 5|28 |6 |2 |45 M8x05 [ 6 [ - [ 5 [35[165[35] 650P4 | M6x08 [ 75| -
216 35|30 | 8 | 29 | 45| M4x07 | 8 | — | 6 | 35| 20 | 35 | 65DP4 | M5x08 | 8 | -
920 5o | 0 |815] 0 | % | 5 [ M5x08 [ 7 | - | 8 |45 26|65 90P7 | W6x08 | 8 | -
@25 375|325 | 12 | 40 | 5 | M6x10 | 12 | — | 10 | 5 | 28 | 55 | 9DP7 | M5x08 | 95 | -
232 soto0 |2 3] |46 |74 vexios [ 18 [as[ w7 [3[65] oop7 /8 99 | u
940 465|395| 6 | 52 | 8 | M8x125 | 13 | 5 | 14 | 7 | 40 | 55 | 9DP7 /8 15 | 1
350 485|405| 20 | 64 | 105 | MIOx15 | 15 | 7 | 7 | 8 | 50 | 66 | 1DP8 /4 T 1.
263 oo |94 [ 46 [20 [ 77 05| wioxis | % [ 7 [ [ 8 60| o [wopios /4 | 19
280 635)535| 25 | 98 | 12 | M6x20 | 21 | 6 | 2 | 10 | 77 | 1 |w50P15| 38 6 | 6
3100 75 | 63 | 30 | 17 | 18 | M0x25 | 27 | 65| 27 | 12 | 94 | 1 |1w5DP15|  3/8 R
0125 | 10~100 | 99 | 83 | 35 | 142 | 245 | M2x25 | 30 | 11 | 32 | 16 | 14 | 125 |2120P184|  3/8 | 245 | &2

156 YPC




= = A
> 712 (XHM LHEE, LI
YCDQ 2A-@12, @16, 820, @25-DM
Q_ E 2-P(PT)
| | I
G s R
3 g O——FF
(o
NF© H1
C
B1 | X
M 4-@N Hole L1 B+Stroke
E 8-00 A+Stroke
QT Tap Dimension
gl - I8 Ed 1A o1 R G )4
\ o012 | M4x07 | 10 4 65
G | 15 @16 | Max07 | 10 4 65
R R 220 | MBx10 | 17 7 9
B+Stroke @25 M6 x 1.0 17 7 9
YCDQ 2A-@32, 340, 350, @63, @80, @100, @125—-DM
B1 Q F 2-P(PT)
e\ 285K
/“\ ) MM
() N[E v s & D &
\J *A:'/ \_)_
@) |
A o1
4-@N Hole X
J 8-00 L1 B+Stroke
A+Stroke
Ot 2t Tap Dimension
EB g o1 R G aY
93 | MBx10 | 17 7 9
> >
S - - -r g 240 | MBx10 | 17 7 9
g @50 | M8x125 | 22 8 1
cm— | —T%] 063 | MIOXx15 | 285 | 105 | 14
R R 280 | MIOx15 | 355 | 135 | 175
B4 Stroke 2100 | M2x175 | 355 | 135 | 175
@125 | MiAx2 | 434 | 184 | 212
2] H
Bl et PN IS I =R = MM JI K| M| N 0 P Q| z o | x| u|H]|os
(mm) (mm)
o12 soap | %2 |26 |2 [45] M5x08 | - [ 5 [155]35| 650P4 | M5x08 | 75| - | 9 |wo5[ 4[4 [8
216 455|30 | 8 [ 20 [ 45| Mex10 | - | 6 | 20 [ 35| 65DP4 | M5x08 | 8 | - |10 | 12 |555| 5 | 10
220 sy |0 [815[ 10 [36 [ 5 [mext25 [ - [ 8 [265[55] ooP7 | M6x08 [ 8 | - |2 | w[w5]5 [
225 5 [325| 12 | 40 | 5 | MIOx125 | — | 10 | 28 | 55| 9DP7 | M5x08 | 95| — | 15 |175| 25| 6 | 17
232 soro0 |51 381 [45 74 Maxis [45] 1 |34 [65[ 90p7 118 90 | 14 |205|285] 85| 8 | 2
240 68 [3905| 16 | 52 | 8 | Midx15 | 5 | 14 | 40 | 55| 9DP7 118 115 | 14 |205]235|285| 8 | 2
250 7 |405| 20 | 64 [105| MBx15 | 7 | 17 | 50 | 66 | 11DP8 1/4 1|19 | 26 [285|335] 11 | 7
263 500 |725] 26 [0 [77 [105] wiexts [ 7 [ [60[ 9 [14DP10S 1/4 | 19 | 2 |285|335| 1 |
280 o7 [535] 25 | 98 | 12 | M2x15 | 6 | 22| 77| 1 |ws50P135| 38 16 | 26 |325|355| 435 13 | 32
3100 1065 63 | 30 | 117 | 18 | M26x15 | 65| 27 | 94 | 11 |175DP135| 3/8 19 | 26 |325(355|435| 16 | 41
@125 | 10~100 | 141 | 93 | 35 | 142 |245| M30x15 | 11 | 32 | 114 | 125 | 212 DP 184 3/8  |245| 26 | 42 | 45 | 58 | 18 | 46

www.ypc.co.kr 157



o N xR

» ZEH (YCQ2A LB)
(XHA HILKERS)  YCQ2A LB-@12 @16, @20, @25-D, DM

_F_ 4-@D
L S+Stroke
¢ |@
i 4 # i B .
NI > 2
fr 4 f | ;
A 1 ||
\V \_6} i \ T[T H::l:/
L1 H
X|_Y LS+Stroke.
Z7+Stroke
E 4 EH O
REUZ | AB23 e 77 S 'S L L1 LH LY | @D | LX Lz X Y J F LT
(mm) (mm)
212 530 353 | 17 5 | 1B5| 24 17 | 2905 | 45 | 34 | 44 | 45 8 M4 x07 | 28 2
216 368|185 | 65 | 135|255 | 19 [ 335 | 45 | 38 | 48 5 8 M4x07 | 28 2
220 5~ 50 M2 | 195 | 75 | 145|285 | 24 | 42 | 66 | 48 | 62 | 58 | 92 M6 x 1.0 4 32
025 447 | 225 | 75 | 15 | 325| 26 | 46 | 66 | 52 | 66 | 58 | 10.7 | M6x1.0 4 32

(XA HILHES)  YCQ2A LB-@32, @40, @50, @63, @80, 3100-D, DM

_F_ 4-@AD
L S+Stroke
) b
B - :\\
N £[ >
|
E } \— { T
- — |
Jany Eﬂ H
D P T by
| 5
XY LS+Stroke
ZZ+Stroke
E | A EH O
AU | AERIEA | | g g Ly |y | bz x|y J F | LT

(mm) (mm)
32 530 472 | 23 | 7 | 17 |385|30 | 57 | 66 | 57 | 71 | 58 | 112 | M6x10 4 | 32
@40 537|295 | 135 | 17 |385| 33 | 64 |66 | 64 | 78 | 7 | 12| MEx10 4 | 32
@50 567|305 | 75 18 | 435 | 39 78 9 9 95 8 147 | M8x125 5 32
@63 5~ 50 622 | 36 10 18 | 435| 46 | 915 | 1 9 | 13 9 162 | MIOx15 5 32
280 75 | 435|135 | 20 | 535 | 59 | 114 | 13 | 118 | 140 | 1 | 195 | M2x175 | 7 | 45
@100 88 | 53 | 19 | 22 |535| 71 | 136 | 13 | 137 | 62 | 12 | 23 | M2x175 | 7 | 60

158 YPC



o M2IH xR

» ZEH (YCDQ2A LB)
(XM LiZHE)  YCDQ2A LB-@12 @16, 320, @25-D, DM

_F_ 4-@ D
L S+Stroke
¢ @
i 4 £ i g
N| x| 2
| I h ‘!
£ 4 fi + | !
A il IT
\V \_E} y T \ T H::l:/
5
X|_Y LS+Stroke
Z7+Stroke
E 4 HOo
FHEUE | AB23 He 77 S LS L L1 LH LY | @D | LX Lz X Y J F LT
(mm) (mm)
012 5~ 30 463 | 28 16 | 1835 | 24 17 | 295 | 45 | 34 44 | 45 8 M4 x 0.7 2.8 2
016 483 | 30 | 185 | 135 | 255 | 19 | 335 | 45 | 38 | 48 5 8 M4x07 | 28 | 2
320 5 ~ 50 532 | 315 | 195 | 145|285 | 24 | 42 | 66 | 48 | 62 | 58 | 92 M6 x 1.0 4 | 32
225 547 | 325|175 | 15 |325| 26 | 46 | 66 | 52 | 66 | 58 | 10.7 | M6x10 4 32

(XtM LHES)  YCDQ2A LB-@32, @40, @50, @63, 380, 3100-D, DM

4-@D

@] ey

il 4 —

|
il
s EH_| . i H

|l

L S+Stroke

Lz
LX

LY

b 4
1 5
X|_Y LS+Stroke
Z7+Stroke
E"(il;:)@ &ﬁ)@% 77 S LS L (B} LH LY | @LD| LX Lz X Y J 7 LT
232 5~ 30 572 | 33 17 17 | 385 | 30 57 | 66 57 ul 58 | 1.2 M6 x 1.0 4 32
@40 637 395|235 | 17 | 35| 33 64 | 66 | 64 78 7 1.2 M6 x 1.0 4 32
250 66.7 | 405 | 85 | 18 |435| 39 | 78 9 79 | 9% 8 | 147 | M8x125 5 | 32
263 5~ 50 722 | 46 20 18 |435| 46 | 915 | 1 95 13 9 162 | MIOx15 5 32
280 85 | 535|235 | 20 | 535 59 14 13 18 | 140 1 195 | MI2x1.75 7 45
@100 98 63 29 22 | 535 | 7 136 13 137 | 162 12 23 M12 x 1.75 7 6.0

www.ypc.co.kr 159



(XH HILHES)

4-9FD

2-¢FP

£
B L1 L S+Stroke
FX ZZ+Stroke
FZ
| o)
FEUE | AERS He Y4 S L L1 FD FP A B FX Fz FY FT
(mm) (mm)
@12 5~ 30 305| 17 | 135 | 24 45 | 31 25 | 155 | 45 55 - 55
@16 32 | 185|135 | 2655 | 45 | 31 30 20 45 55 - 55
@20 5~ 50 34 | 195 | 145 | 285 | 66 | 31 39 | 255 | 48 | 60 - 9
025 375 | 25| 15 | 325 | 66 | 41 42 28 52 64 - 9
YCQ2A FA 2A-@32, @40, @50, @63, @80, @100-D, DM
T
an
)
08 L L S+Stroke
EX ZZ+Stroke
FZ
4 B
FEUE | AER3 e Y4 S L L1 FD EE A B FX Fz FY FT
(mm) (mm)
@32 5~ 30 40 23 17 | 385 | 55 | 41 48 34 56 65 34 8
@40 465|295 | 17 | 385 | 55 | 41 54 40 62 2 40 8
250 485|305 | 18 | 435 | 66 | 51 67 50 76 89 | 50 9
@63 5~ 50 54 36 18 |435| 9 51 80 60 92 | 108 | 60 9
@80 635 |435| 20 | 535 | 11 6.1 9 7 16 | 134 | 77 1
@100 75 53 22 | 535 | 1 6.1 17 94 | 136 | 154 | 94 1

160 YPC




£
B L1 L S+Stroke
FX Z7+Stroke
FZ
E q HOo
FELE | AERS He 77 S L L1 FD FP A B FX Fz FY FT
(mm) (mm)
@12 5~ 30 451 28 | 135 | 24 45 | 31 25 | 155 | 45 55 25 55
@16 435 | 30 | 135 | 255 | 45 | 31 30 20 45 55 30 55
@20 5~ 50 46 | 315 | 145 | 285 | 66 | 31 39 | 265 | 48 | 60 39 9
025 4751325 | 15 | 325 | 66 | 41 42 28 52 64 42 9
(Xt &S] YCDQ2A FA-@32, 340, @50, @63, 380, @100-D, DM
4-9FD FT
2-¢FP
‘o
1E &l
)
08 L L S+Stroke
X ZZ+Stroke
FZ
74
FEUE | AER3 e Y4 S L L1 FD EE A B FX Fz FY FT
(mm) (mm)
232 5~ 30 50 33 17 | 385 | 55 | 41 48 | 34 56 65 34 8
@40 565|395 | 17 | 385 | 55 | 41 54 40 62 2 40 8
250 585|405 | 18 | 435 | 66 | 51 67 50 76 89 | 50 9
@63 5~ 50 64 | 46 18 |435| 9 5.1 80 | 60 92 | 108 | 60 9
@80 735 |535| 20 | 535 | 11 6.1 9 77 16 | 134 | 77 1
@100 85 63 22 | 535 | 1 6.1 17 94 | 136 | 154 | 94 1

www.ypc.co.kr 161




o N xR

> 24 Ze2jH|AE (YCQ2A CB)

(RHM HILHER)

YCQ2A CB-@12 @16, @20, @25-D, DM

CcT 4-CM Bolt
@ CDH10 f \ f \
o /R,
/ e
"GN BRER N
L1 CE CX:53
L S+Stroke CF CB Y83
Z7+Stroke CG
4 &
REUE | ABRIEH) ;| g L | L1 | CB|CE|CF|CG cM CDH10 CT | ox | oy
(mm) (mm)
@12 530 45| 17 | 35| 14| 6 7 | 14 ] 25| Max07 5% 4 5 | 10
@16 43 [185 (35 |155| 6 | 10 | 15 | 29 | M4x07 5 3% 4 | 65| 12
@20 5~ 50 51 [195| 45 |185| 9 | 12 | 18 | 36 | MBx10 10 &% 5 | 8 | 16
@25 575 |225| 5 |225] 10 | 14 | 20 | 40 | MBx1.0 10 5 | 10 | 2
(XHM HILHES)  YCQ2A CB-@32, 340, @50, @63, @80, @100-D, DM
cr 4-CM Bolt
r ¢ CDH10
Hi @© ©
i &2/, &
/—W /] G
Wt | SP/BN
L1 CE
L S+Stroke CF CB
Z7+Stroke
EH
REUE | ARRIEH) ;| g L | L1 |CB|CE|CF|CG CM CDH10 CT | o | oy
(mm) (mm)
@32 30 60 | 23 | 7 |285| 10 | 14 | 20 | 45 | MBx10 10 &% 5 | 18| 3
@40 685|295 | 7 |285| 10 | 4 | 22 | 52 | M6x10 10 & 6 | 18| 36
@50 805|305| 8 |335| 14 20 28 64 M8 x 1.25 14 7 22 44
263 5~ 50 88 36 8 | 35| 14 20 30 7 M10 x 1.5 14 3 8 22 44
@80 1095|435 | 10 | 435 | 18 27 38 98 | MI2x175 18 & 10 28 56
@100 32| 53 | 12 |35 2 | 31 | 45 | 17| Mx175 | 2 2 10 | 32 | 56

162 YPC




¢ 220 X

» 241 S2H|AS (YCDQ2A CB)
(XtM LHEE)  YCDQ2A CB-@12 @16, 320, @25-D, DM

CT 4-CMBolt

¢ CDH10 / \ / \
a ] Ky - &
/
(Y T )
L1 CE X33
L S+Stroke CF CB CY$s
77+Stroke CG
REUE | ARRIEH) S, | g L | LW |CcB|CE|CF|CG CM CDH10 CT | X | cy
(mm) (mm)
@1 530 55| 28 | 35| 14 | 6 7 | 14 ] 25 | M4x07 5% 4 5 |10
@16 545 | 30 | 385 [155| 6 | 10 | 15 | 29 | M4x07 5% 4 | 65| 12
@20 5~ 50 63 | 35|45 |185| 9 | 12| 18 | 36 | M6x10 10 & 5| 8 | 1
@25 675 |325| 5 |225| 10 | 14 | 20 | 40 | M6x10 10 % 5 | 10 | 20
(XtM &S]  YCDQ2A CB-@32, 340, 350, @63, @80, @100-D, DM
cr 4-CM Bolt
r #CDH10
1| N (7
i ¥ &)
mEn 1T
| K Eﬁ
‘ L/ s
— [
L1 CE
L S+Stroke CF CcB
Z7Z+Stroke
REUE | ARRIEH) ;| g L | L1 |CB|CE|CF|CG CM CDH10 CT | o | oy
(mm) (mm)
@32 S0 70 | 33 | 7 |285] 10 | 14 | 20 | 45 | MBx10 10 &% 5 | 18| 3
@40 785|395 | 7 |285| 10 | 4 | 22 | 52 | M6x10 10 & 6 | 18| 36
@50 905|405 | 8 |335| 14 20 28 64 M8 x 1.25 14 27 7 22 44
263 5~ 50 98 46 8 |35 14 20 30 7 M10 x 1.5 14 3 8 22 44
@80 195|535 | 10 | 435 | 18 27 38 98 | MI2x175 18 3 10 28 56
@100 142 | 63 | 12 (435 22 | 31 | 45 | 17 | MR2x175 | 22 ™ 10 | 32 | 56

www.ypc.co.kr 163



* M2iG 2|32
> 1M HEXE
THELEFAZH(ERRL:mm)
FEUB ) =w A B C|E|a@| MM | Al | NDHIO | NX
MM A1_ @NDH1O (mm)
o12 YcQi-l [215[ 16 (25| 7 | 12 | M5x08 | 6 | 55 %
} @16 YCQI6- | 32 | 25| 3 | 14| 14 | M6x10 | 8 | 51 |65%:
Q k) @20 YCQ20-I | 34 | 25| 4 |115] 18 | M8x125 | 85 | 8¢ B
@25 YCQ25- | 41 |30 | 5 | 14| 23 | MIOx125 | 105 | 102 | 105
c @32, @40 | YCQ32- | 42 |30 | 6 | 14 | 22 | Mi4x15 | 14 | 102%™ | 1822
B @50, @63 | YCQS50-1 | 56 | 40 | 65| 20 | 28 | MI8x15 | 18 | g | 2%
A @80 | YCQ80-I | 71 |50 | 8 | 27 | 38 | M2x15 | 21 | 188 | 2882
@100 | YCQI00-1 | 79 | 55 | 10 | 31 | 44 | M26x15 | 21 | 22% | 320
> 24t LHEXQIE
@12~ 316
Mmoo AL @NDH10
0)0
Y
CER
| e
E
B
A
ME: @12~ @25-Eta Y, @32~@100-F& (EH9):mm)
@20, @25 o7
=l A|B|C|E]|&@) F MM Al | NDHIO | NX |NZ | L
v AL ONDHIO (mm)
@12 |Ycqie-y [215[ 16 | 6 | 7 [ 12| - | M5x08 | 6 | 54 %110 | 146
@16 | YCQI6-Y | 28 [ 21 | 8 [ 10 |14 | — | MBx10 | 7 |55 |65%:| 12 [166
o LD ||| @20 |voaoo-v[ 34|25 |95 15|18 |6 | MBx125 | 85 | 85 [ 8% | 16|
WV @25 | YCQ2s-Y | 41 |30 | 12 | 14 | 22 | 20 | MIOx125 | 105 |10 | 105 | 20 | 256
T l_'_‘E‘ @32 @40| YCQ32-Y | 42 | 30 | — | 14 | 2| — | Mi4x15 | 16 |10 | 183 | 36 | 416
= @50, @63| YCQ50-Y | 56 | 40 | — [ 20 | 28 | — | MiI8x15 | 20 | 1450 | 2258 | 44 |50.6
B @80 |YCQ8O-Y | 71 |50 | — | 27 | 38| — | M2x15 | 23 | 185 |28 | 56 | 64
A @100 |[YCQI00-Y| 79 | 55 | — | 31 | 44 | — | M26x15 | 24 |22 |38 | 64 | 72
@32~ @100
w\ Al @NDH10
I
N
E
B
A
> 24 LIZXQIE & / 24t S|H|A F H2E2y )
REUE |y NDH10 1 12 P w B
P w W P (mm)
o212 QP-016 538 16.6 122 15 0.7 47
HE @16 | QP-020 300 21 16.2 15 09 75
bk @20 QP-025 10 6% 256 2022 155 115 94
" @25 | QP-032 | 10 %5 4.6 36.2 155 116 94
L @32, 340| QP-050 14 3% 50.6 442 2.05 115 131
@50, @63| QP-080 | 18 %% 64 56.2 255 135 16.8
@80 | QP-100 | 22 5% 72 64.2 255 135 20.8

164 YPC






